Roll No:-
Sem-V Diploma Exam 2023 (Odd)
(Civil Engineering. / Civil (Rural) Engineering.) (Theory)
[Time: 3 Hours] Irrigation Engineering ( 1615505-P) [Max. Marks: 70]

- All questions are compulsory. (H’Jﬁ UH \’Aﬁaﬁ% D
- Marks are mentioned on the right side of each question. (3% T Uy & aT% 3R Wﬁ’ﬁ%l)

Group (A) (9 -§)
Q.1 Choose the most suitable answer from the following options. (1*20=20)

atre Iuded fawey & g fod |) «-

i If A is the depth of water in meters B is the number of days of base period and D is the duty in hectare /cumre the
relation ship which holds good is

@ A AT # urel dY RS § B YN Al & e T qEdqr § 3R D eI /FgHS H I &
S {IY T & 6§ )
(a) D = A(8.64D/B) (b) B = A(8.64B/D) (c) D = 8.64A/B (d) A= (8.6 B/D)

ii. For smooth entry of water in canal the angle between head regulator and water is generally kept
(& H Ul & Ak gAA F U g5 Welex 3R drelr &1 i & o7 HHAAN ) @1 SA1er § )
(a)80° (b)90° (c) 110° (d) 120°

iii.  The optimum depth of kor watering for rice crop is

(TEad H BEA F fIT FR HAS FHr S5CHA TS § )

(@)23cm (b)19cm (c)17.5cm (d)13.5cm
iv. The crest level of a canal diversion head work depends upon
(78T STIGel 85 o ol WY TR AN Far g )
(@) F.S.L of the canal (b) discharge perimeter (c) pond level (d) all the above
(778X FT TH TH TA ) (frdg=r aieEr ) (ATl T T ) GWRIFd T )
V. The difference in level between the top of a bank and supply level in a canal is called
(fopdr 7T & deh & MY 3R ITYfcd ER & &I & 37X Y gl STl & )
(a)berm (b)freeboard (c) height of bank (d) none of these
(39ce ) (HFT &1 ) (S Hr SIS ) (3TH & IS LT )

Vi.  Base period of a crop is (fFeT waer @7 90 AR gar § )
(a)the same as crop period (b)less than crop period (c)more than crop period (d)none of the above

(PTe NIRTE & T ) (P8 RIS A w7 ) (FEd TNIS @ 31w ) EFT & @ F1$ =70 )

vii. For plant growth the useful soil moisture is
(e & faePre & A ameTerIE e AR @ € )

() capillary water (b) gravity water (c) hygroscopic water (d) none of the above

(ITAHT ST ) (Treca el ) (BTSSINEHITAS STeT ) GrFd & § IS T )

viii.  Maximum water application efficiency is in
(TR IH ol JART a7 fha #H gidr §)

(a)surface irrigation (b)lift irrigation (c) sprinkler irrigation (d) none of the above

(HEr =S 7)) (3o1g Targ 7)) (FeeFery =TS ) GErFd & F FS AT )
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ix.  Seepage failure of an earthen dam may be due to

(ST & & &1 R&Ae [a%elar fhdes SROT §iar § )

(a)piping (b)overtopping (c)wave erosion (d)toe erosion
(qrsfiaT & FHROT ) (HATEREITAIT & HROT) (AT USTA & HROT ) (T ST & HROT )
X. The structure constructed across a canal to lower down its water level is
(8T & Ul B TAE P o 3dRA & T 8T & IR-UR T8 315 T § )
(a) head regulator (b) cross regulator (c) canal escape (d) canal falls
(85 WeleX ) (e ITeleX ) (helTeT TERT ) (heTTel BieH )
Xi. The elementary profile of a dam is
(fFeY 37 1 afAsF NFEST - BT ¢ )
(a)rectangular (b)trapezoidal (c) right angled triangle (d) none of these
(3T ) (FHCIFT TSR ) (FHHIT TSR ) (377 & PIS 18T )
xii.  ----are those works which are constructed on bed of the river in the upstream of the head regulator
(- Y H ¢ S A & 95 W Wl & IJIEIH AT H T S )
(a)silt ejectors (b)silt excluder (c) silt regulators (d)none of these
(e sa%cy) (Froe Taraeresd ) (ee Weed ) (ETH @ FIS 8 )
xiii.  H.F.L at the site of Bandhara irrigation system should be
(ST TS JuTel % TS W HRARAA G FR -Gl AT )
() as high as possible (b) as low as possible (c) zero (d) none of these
(JAUT FFAT 3T ) (TT FFEAT e ) (T ) ETH & HIS AT )
XiV.  Silting of reservoir (ST & fATeCT & - )
(a)reduces efficiency of dam (b)reduces storage capacity  (c) rains water level (d) all of the above
(3H T & "l & ) (TIEUT &THAT gl & )  (STolead} 9Tl & ) EREETIE D)

xv.  The type of dam which requires least maintenance is --------
(FIATH 3T[RETOT dTed SH Y —----hgl STl & )

(a)steel dam (b)gravity dam (c)timber dam (d)buttress dam
(3E9TT 3H ) (Ir6ca 3A ) (FTSS 39 ) (F&T 37 )
XVi,  ----ee- carries a drain over a canal
(- H e & 3W Ueh Tl Arell BT & )
(a) aqueduct (b) level crossing (c) super passage (d) none of these
(TeFaTSFT ) (el IfEIT ) (R 98T ) (57 & FIS 7T )

XVii.  Rain gauges are used to measures (8T ATHT T YT &1 & )
(a)depth of rainfall (b)area of rainfall (c) volume of rainfall (d) none of the above

@St fr TS AGS 7 ) (@Y7 & &1 AT F ) (T N AT AT H ) (SUFT H § HS T )

Xxviii.  The field capacity of soil depends upon (fRedY &T &7 &THar AR =y &)
(a)capillary tension in soil (b)porosity of soil (c)bothaand b (d)neither a nor b

(e & Tag ) (FRedy & Txgar ) (31 3R 7 Q=) (31 3R & T =8 )
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xix.  Which type of canal does not need cross drainage structure
(P bR fr AT H PIE Il TITAT FT AT RAT Aal 8l & )
(a) side slope canal (b) contour canal (c) watershed canal (d) filed canal

(qTeF EelTeT 16T ) (THT 78T ) CERCLISET RS (@d &g )

XX. What is the name given to the land unfit for agriculture due to water logging

(STeT $RTG & HROT HY & AT A 1 41 A feam a7 § )

(a)desert (XTTEcTeT ) (b)Tundra (37 ) (c) Water logged area (d) Thur (333 )
(STToRTT &1 )
Group (B) (U -dM
Q.2 Write down the advantages and disadvantages of bandhara irrigation 4
@FURT T & ot 3R gt o @ )
OR (31yYd)
List the process of selection of site for bandhara 4

(FURT & TT T TTeTht  GishadT Feheeg Y )

Q.3 Write short notes on 4
a) Ogee spillway b) bar type spillway
(@faéred e fore
30 S Egerd
) SR YR #1 fEqerd)
OR (31Yd)
Differentiate between Earthen dam and gravity dams with respect to their foundation and construction 4

(Aeér & Siel 3R Toca arer & o 3oFehr siig 3N AT & Hae H HAR gqw )

Q.4 Define irrigation enlist advantages of irrigation 4
(RS ol g Y |[fars & omer gellaee Y )
OR (31YdT)
List different types of irrigation project and also write down the disadvantages of over irrigation 4

(fafdest v 1 =S aR@S=3 & FEr s=e 3R it g & Jean o fo )

Q.5 Define rainfall differentiate rainfall from run off 4
@9 I ARSI FL [FW P HIGTE T 3T FY )
OR (31YdT)
Define runoff calculate the run off (cm) from a rainfall of 3 hour the intensity of the rainfall is 2cm/hr. the 4

evaporation and infiltration losses are 8mm and 16mm

(379aTg @ IR Y| 3 §¢ ST a1 F 9dTg (cm)ehT IOTAT &Y | TN Sl gl 2 JHT /8T §
aredieRoT AR 3id:FheT & &fa 8fAAT 3k 16 e § )

Q.6 Define the following term a) duty b) delta 4
(Fefaf@a ug & aRena #F
3N 3g& 9 e )
OR (31Yd)
Define base period find the delta for crop when its duty is 430 hectares /cumec m field it the base of the crop 4

is 150 days
@R A A aRenfa Y R wHe T Sear AT Y S Wd W IHH 3ILT 4308 AT

[FgAF § TG HEel & AR 150 &t § )
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Group (C) (g - ¥

Q.7 Make a layout plan of Bandhara irrigation system enumerate its component parts 6
(FYRT F&AS YoTell &7 [ Tt ST 38 gcah HEN T 0T HITIT )
OR (31Yd)
Differentiate between solid bandhara and open bandhara system 6

(@ SURT 3R Gelr SURT Jomell & &l 3T 91T )

Q.8 Draw layout of diversion head works and show its components also write function of any two components 6
(EadsT 88 Al & [Aeard §av 3R 3% gehl & fG@w fhegr ar gear & &y o @)
OR (31YdT)
a) List the difference between weir and barrage 6

b) List any three components of barrage and also write their respective function
@EnfaR 3R e F fiT FR gEeeg W
d) o F el et gesl Hr gl FeT 3R 3 qafa w7 o fod )

Q.9 Write short notes on 6

a) Lowdam

b) High dam

c) Drainage gallery

(@ferea Aew o

F) foar arer

) a1 91y

T) oo fFerr e’y )

OR (31YdT)
Rice is matured in 12 watering each of 11cm in 108 days in 100 square kilometer calculate the discharge at 6
the head of the canal if transmission loss is 20%

(100 FI71 fhcliHeX &7 & a1 HT BT s 1lcm Hr 12 geaar d 108 fear & aRuera gdr
€ 716X & AT W HEROT A0 Y giE FEROT gl 20% © )

Q.10 With the help of neat sketches explain about typical cross section of canals 6
(Faes Y@l T Hgrrar @ g3 & fARISE ey I & IR § FHASAE )
OR (31Yd)
a) Define canal lining state the purpose of canal lining 6

b) List down the properties of good canal lining material

(37) 8T ST s gReT Y| g ASfAer &1 3627 FAsy
§) 3TOT AT eMSToler FHA & IO AT T =17 )

Q.11 Write down the types of failure of earthen dam brief any two with its remedial measures 6
(s & Tig fr Fwdar & R QT Fgr & FI 58 3TRRICHS 39T & I a9 &
ford )
OR (31Yd)
Define spillways list function and component of spillway 6

(Fegerast & aRenfa &Y |[faerd & ) AR aeat H g = )
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